MATH 109  Practice Final    [Review quizzes, exams, and homework too.]          
Write your answers on separate sheets of paper.  Be sure to label each answer.  

Show your work.  Correct conclusions without sufficient work will receive NO CREDIT.  If your calculator can do graphs, do not use this capability on the exam.  If you have a question or want clarification during the exam, please do not hesitate to ask.  

Name __________________________
     [Staple this to your answer sheets]

1.        Let  f(x) = x2 - 4x - 5.                                           [Useful formula  h = -b/2a]

(a)  Find the vertex.   (2,-9)

(b)  Give the y-intercept.  (0,-5)

(c)  Give the x-intercepts.  (-1,0)  (5,0)

(d)  Sketch the graph.   I will do the graphs in class.
2.        Let  f(x) = 
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(a)  Find the horizontal asymptote? y = 1.5 


(b)  Find the vertical asymptote.    x = 2.5
            (c)  Graph the two asymptotes.   
3.    a. Sketch the lines  y = 2x – 3    and   y = -3x + 8 
       b. Find the x and y coordinates of the point of intersection of the two lines. (2.2,1.4)
       c. What is the slope of a line perpendicular to y = 2x – 3.   -1/2
4.  a.  Find the following using your calculator

           i.  e2.6    13.46            ii.  log 127    2.1038
     b.  Find the following without a calculator.

          i.  log4 16     2              ii.   eln y           y
5.  Draw  a rough sketch of each the following. 

(a)  f(x) =  (1/3)x



(b)  g(x) = log6 x 

           (c)  a polynomial function whose highest x term is  -x6 and it has the most peaks and 

                 valleys it can.
(over)

6.         Solve each inequality and graph the solution set on a number line.  

(a)  x – 2 
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 3x + 6 



(b)  |3x – 5| > 2 

                    x(-4                                                                 x>7/3    or    x<1
7.        Write as a single fraction in lowest terms.  


(a)  
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 x – 5 = 3x + 8 
 

    

(b)  eq \f(3, x2 - 1 )  +  eq \f(1, 2x + 1 ) 
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(a)    Simplify:  
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(b)  Rationalize the denominator:  
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9.         Suppose 
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            (a)  Find  f(0)       2
            (b)  Find f(a+1)   
[image: image11.wmf]a

a

a

2

3

)

2

ln(

2

-

-

+

+


          *(c)  Find the domain of f(x)   -1 < x ( 2
*10.  a. Graph the rational function in problem 2.

         b. If  
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  and x>0, show that 
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